NEWAGE

KITCHEN
STORAGE ACCESSORIES

INSTALLATION GUIDE

~.
©
)
(@)
©
S
©
©
e
e}
(%]
(%]
[}
v
)
<<
()
(@)
o
o
+—
V2
5
o
>
L
w
=
=
[LiL]
=
=

Need help or spare parts? For fastest service,

contact NewAge Products at 1-877-306-8930;
or support@newageproducts.com.

Do not return to the retailer.

IM-HKC.01.004A-01




Index

Product Inspection 3
Tools Needed 3
Maintenance and Care 3
Installing the Pull out 50L bin 4
Installing the Magic Corner 6
Installing the Iron Board 8
Installing the 18" 24", 36” Pants Display Rack 10
Installing the 18” and 24” Closet Rod on Cabinet Walls 12
Installing the 18” and 24”Closet Rod on Cabinet Shelf 14
Installing the 18’ 24", 36" Pull out Hamper Basket 16
Installing the Under Sink Organizer 19
Installing the 12” and 18” Double Pull-out Basket 22
Installing the 18" 24", 36" Pull-out Basket 24
Manufacturer One Year Limited Warranty 25




Product Inspection

Check to see all parts are received as per the
order placed.

« Contact NewAge Products at 1-877-306-8930;
for any missing parts.
Inspect the products for any damages before

Q % starting the installation.
+  Go through the installation instructions carefully
= before starting the installation.

Tools Needed

" / % =0
#2 Philips Head Pencil Drill Bit #2 Philips Bit Cordless Drill Level

Screw Driver 3/16" (Optional)

Maintenance and Care

«  Wipe and clean the accessory with a soft cloth. Do not use the scourers, abrasives or chemical
cleaners.
+ Keep the slides out of water to protect the slides, thus make sure the smooth sliding.



Installing the Pull out 50L bin

0 Tools and parts needed.

Place the template on the bottom of the
o cabinet and align it to the front and side of
the cabinet.

#2 Philips Head
Screw Driver

I

#2 Philips Bit

M5 x 16mm
Melamine Screw

Pencil

Cordless Drill
(optional)

IO ]

Drill Bit
3/16"

2=0

Level

Mark the drill holes layed out on the

template.

Drill holes at the marked locations using
3/16" mm drill bit.

7




Installing the Pull out 50L bin

Insert the metal basket assembly and align the bracket holes to the drilled holes in the
cabinet. Using a screwdriver or cordless drill fasten the basket assembly using eight
M5x16mm screws included with the basket assembly. Make sure the cross posts are
installed on the basket assembly as shown in the image (A).

@




Installing the Magic Corner

cabinet and align it to the front and side of

o Place the template on the bottom of the
the cabinet.

O Tools and parts needed.

, /

Drill Bit

#2 Philips Head Pencil 316"
Screw Driver

S =0

#2 Phl'IpS Bit Cordless Drill Level

(optional)

M5x8mm M5 x 16mm M4x8mm
Melamine Screw Melamine Screw Melamine Screw
Mark the drill holes layed out on the Drill holes at the marked locations using
template. 3/16" mm drill bit.




Installing the Magic Corner

Insert the sliding base and align the Slide the top frame and attach the handles
bracket holes to the drilled holes in the using two M4x8mm screws. Attach
ca!omet. Using a screwdriver or cor@less bottom brackets (B) to the top frame using
drill fasten the basket assembly using the eight M5x8 screws included with the

eight M5x16 screws included with the assembly and screw in the two handles on
Magic corner. top.

Insert the top frame assembly and align
the bracket holes with the holes on
the sliding base. Using a screwdriver Slide the top frame assembly out and

or cordless drill fasten the top frame install the metal baskets.
assembly using the eight M5x8 screws
included with the assembly.




Installing the Iron Board

Place the Iron board at desired position on

0 Tools and parts needed. the cabinet shelf.

—a— / =

Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level
(optional)

M5 x 16mm
Melamine Screw

Slide the iron board out from the frame.

(Note: Use two or more people to hold Drill holes at the marked locations using
the iron board in position.) 3/16 mm drill bit.

Mark the holes on the sliding frame base.




Installing the Iron Board

Place the iron board, slide out and

fasten the iron board to shelf using Slide the ironing board in to finish the
eight M5x16mm screws included in the installation.
assembly.




Installing the 18’, 24", 36" Pants Display Rack

0 Tools and parts needed Draw a horizontal line on the cabinet walls
P ' at desired height (L).

)
—— :
Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
#2 Philips Bit Cordless Drill Level
(optional)

M5 x 16mm
Melamine Screw

Insert the side mounted slide and align
Mark a hole at 1.5 in from the front on the the first hqle on the Shd? with the marked
: i hole position. Use the slide as template,
horizontal line. : .
mark the outer holes on slide mounting
bracket.

1.51in

ﬂ _15in
,,,,,,,,,,,,,,,,,,, /

L Desired height
of pants rack

Side view of inside panel

10



Installing the 18’, 24", 36" Pants Display Rack

Insert the slide and align the holes with
Drill holes at the marked locations using the drilled holes on the cabinet. Using a
3/16 mm drill bit. power drill or screw driver fasten the side
mounting slide to the cabinet using four
M5x16mm Screws.

T

@ Insert the rack and clip it on the slides.

11



Installing the 18” and 24" Closet Rod on Cabinet Walls

Draw a horizontal line on both walls of
the cabinet at distance X from top and

0 Tools and parts needed. vertical line at distance Y from the back.
Put the bracket on wall and mark holes.

X
: j)] / I N
Drill Bit

#2 Philips Head Pendil 3/16"
Screw Driver

S D=0

#2 Philips Bit Cordless Drill Level

(optional)

@5x26mm

Melamine Screws
Side view of inside panel

Drill holes at the marked locations on both Fasten one mounting bracket to one side
walls using 3/16" drill bit. of cabinet with 5x26mm screws.

12



Installing the 18” and 24" Closet Rod on Cabinet Walls

Align the closet rod and bracket to the

e Fix the other bracket to the closet rod. holes marked on the opposite cabinet
wall.

Fasten the bracket to cabinet wall using
two 5x26mm screws.

b

13



Installing the 18” and 24"Closet Rod on Cabinet Shelf

Draw a centre line on the shelf and mark

0 Tools and parts needed two holes at a distance of 16.25 in for 18”
P ) closet rod and 22.25 in for 24" closet rod

from the centre on both sides.

)

—a— / =

Drill Bit

#2 Philips Head Pencil 3/16"
Screw Driver

A =
#2 Philips Bit Cordless Drill Level
(optional)

@4x20mm
Melamine Screws

Assemble the closet rod and mounting
brackets. Fix the covers of mounting
brackets as shown in the image C.

Drill holes at the marked locations using
3/16" drill bit.

14



Installing the 18” and 24"Closet Rod on Cabinet Shelf

Insert the closet rod and align the top
holes with the drilled holes on shelf.
Fasten the closet rod to shelf using two
4x20mm screws.

15



Installing the 18" 24" 36" Pull out Hamper Basket

0 Tools and parts needed.

Draw a horizontal line on the cabinet walls
at desired height (L).

#2 Philips Head
Screw Driver

I

#2 Philips Bit

M5 x 16mm
Melamine Screw

Pencil

Cordless Drill
(optional)

IO ]

Drill Bit
3/16"

2=0

Level

Mark a hole at 1.5 in from the front on the
horizontal line.

ﬂ _15in
,,,,,,,,,,,,,,,,,,, /

L

Side v

iew of inside panel

Desired height
of drawer slide

Insert the side mounted slide and align
the first hole on the slide with the

marked hole position. Use the slide as
template mark the outer holes of the slide
mounting bracket.

16

1.51in




Installing the 18" 24" 36" Pull out Hamper Basket

Insert the slide and align the holes with
Drill holes at the marked locations using the drilled holes on the cabinet. Using a
3/16 mm drill bit. power drill or screw driver fasten the side

mounting slide to the cabinet using four

M5x16mm Screws.
(T

8

Take the support frame and adjust the

frame length by adjusting the screws at

the bottom according to the interior of the 0
cabinet. Make sure to adjust the distance

of the four sides of the frame consistent.

Install frame on the slides. After the frame
is installed, test weather the frame is
sliding smoothly. Lock the four screws at
the bottom of the frame.

/

17



Installing the 18" 24", 36" Pull out Hamper Basket

Open the velcro of the clothing bag on four sides, install wire frame under the folds and fold
back the velcro over the wire frame. Connect the plastic holders to with the wire frame as
shown in the image.

18



Installing the Under Sink Organizer

Place the template on the bottom panel

0 Tools and parts needed. of cabinet, aligning it to desired location
using template arrows.

- ] /
Drill Bit
#2 Philips Head Pencil 3/16"
Screw Driver
S
#2 Philips Bit C(()(;gltfgig;i" Level
M5 x 16mm M4x6mm
Melamine Screw Screw
Mark drill hole locations with a pencil Remove the template and drill the marked
following template instructions. holes using a 3/16" drill bit.

5

19



Installing the Under Sink Organizer

9 Install rails aligning with the pre marked holes using eight M5x16mm screws.

Slide the centre frame assembly onto the rails by pushing it under the clips at back of the
6 slides as shown in (A). Secure front portion of the frame to the rails using two M4x6émm screws
as shown in (B).




Installing the Under Sink Organizer

@ Install baskets using the locking clips as shown below.

21



Installing the 12” and 18” Double Pull-out Basket

Place the template on the bottom panel

_ of cabinet, aligning it to desired location
0 Parts required 0 using template arrows.

Drill Bit

#2 Philips Head Pencil 3/16"
Screw Driver

/
—4f=

7 \'\3\‘ @ — @
M5 x 16mm #2 Philips Bit Cordless Drill Level
Melamine Screw
Mark drill hole locations with a pencil Remove the template and drill the marked
following template instructions holes using a drill.

22



Installing the 12” and 18” Double Pull-out Basket

Using a screwdriver or cordless drill fasten
the Basket assembly using the eight
M5x16mm screws included with the
basket assembly.

Insert the metal basket assembly and align
the bracket holes to the drilled holes in
the cabinet

23



Installing the 18’ 24", 36” Pull-out Basket

0 Parts and tools required

Place the template on the side wall of the

0 cabinet, aligning it to the top and front

using template arrows.

/
D |

Drill Bit
#2 Philips Head Pendil 3/16"
Screw Driver
P o
M5x16mm #2 Philips Bit Cordless Dril Level
Melamine Screw

Mark drill hole locations with a pencil
following template instructions.

Remove the template and drill the marked
holes using a drill.

e D
\ "\\\Mtq
X

by

Kty |
beg

T
maﬂdmam“*xp«::jww

Dri\\pi\othn\exinmhe

.

Using a screwdriver or cordless drill fasten
the Basket assembly using the eight
M5x16mm screws included with the

basket assembly.

——:
L

24




Manufacturer One Year Limited Warranty

When this product is installed, operated and maintained according to the instructions attached
to or furnished with the product, NewAge Products Inc. will replace the defective product or
parts if the part fails as a result of defective materials or workmanship for a period of One Year
from the purchase date of the product.

NEWAGE PRODUCTS INC. WILL NOT PAY FOR:

+ Service calls to correct the installation of any NewAge products or to instruct you how to use
or install them.

- Damage resulting from products caused by accident, misuse, abuse, fire, flood, improper
installation, acts of God, neglect, modification or mishandling.

+ Repairs or replacement when your product is used in other than normal, residential use,
such as a commercial environment, or handled in anyway inconsistent with the installation
instructions included with the product.

« Surfaces damaged due to improper use of chemicals, and detergents.

+ Replacement parts for NewAge products outside Canada and the United States.

« Loss due to theft, fire, flood, accident or acts of God.

« Shipping or freight fees to deliver replacement products or to return defective products.

« Any labor costs during the one year limited warranty period.

DISCLAIMER OF IMPLIED WARRANTIES; LIMITATION OF REMEDIES

IMPLIED WARRANTIES, INCLUDING TO THE EXTENT APPLICABLE WARRANTIES OF MERCHANTABILITY OR FITNESS
FOR A PARTICULAR PURPOSE, ARE EXCLUDED TO THE EXTENT LEGALLY PERMISSIBLE. ANY IMPLIED WARRANTIES
THAT MAY BE IMPOSED BY LAW ARE LIMITED TO ONE YEAR, OR THE SHORTEST PERIOD ALLOWED BY LAW.

Thank you for purchasing a NewAge Product!
Please give us a call or visit online if you have any questions.
Call 1.877.306.8930; e-mail at info@newageproducts.com

25



	Product Inspection 
	Tools Needed
	Maintenance and Care
	Installing the Pull out 50L bin
	Installing the Magic Corner
	Installing the Iron Board
	Installing the 18”, 24”, 36” Pants Display Rack
	Installing the 18” and 24” Closet Rod on Cabinet Walls
	Installing the 18” and 24”Closet Rod on Cabinet Shelf
	Installing the 18”, 24”, 36” Pull out Hamper Basket	
	Installing the Under Sink Organizer
	Installing the 12” and 18” Double Pull-out Basket
	Installing the 18”, 24”, 36”  Pull-out Basket
	Manufacturer One Year Limited Warranty

